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i y=4x(x8 goc -2,-1,01,2)
i. y=x+5x8 goc -8, -7, -6, -5, -4, -3, -2)
il. y=-2 x+1 (X8 eos -6,-3,0, 3, 6)
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iv. y=15x-4x8 aos -2,0,2, 4, 6)
02. ee» e EUc emp®eas v guIimmdeads Bw Sunss.
i. y=2x+3 i. y=-3x+5 ii. 3y=2x-6 iv. 2y—6x=7
03. ¢ ¢ @m®ens DI grimRestds 8o uEdmcded Gmed wu8moens Bw eusin.
i m=2, C=3
ii. m=-3, C=5
iii. m=3, C=1.5
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iv. m=-5, C=3
3
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X 6 3 3 6
y 5 0 10
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ii. X=180 y8 aoc gEdmcs 5385 crosim.
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02. y=3X,y=3x+1,y=3x—1 258500 3® 3683 806 8@ @080 50 gt HEOD Ge5Im.
03.1. y=-2Xx+ 3 el s@x3nc Brn® b 3 wdmndes EBw eurim.
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04.1. y=2x+3,y=2x—-3,y=-2x+3,y=-2x - 3 @83 ¢Feom cbar 90 2eadin HEED
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